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notice. we left Hhe x-valves qlove, and filVEd it
x at the gnd.
Mol s x0T EEES g)
W = x4 i ox= Ouwb = 340k - 3.4n!
diu = Axdx I x =l u=a =

3.4nR
Notice we cha/ngai x-valves indo i ~-values, and

Pilled rado 1e at the end. Erther way works.

Fdu = xdx

8. S: T dx = S:: & du = /%/u//x{:éz:%/fﬁm//:
w = Anx Jﬂh /fhg ’&7/'%75/
dy = “i“dx = /ﬂn L~ Jél’l | = *’&02
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Xze2s w = tpe?=2 TN




§s

J€C7Lf{m é/" (eont)

Re. Find the area of the q/om éounc/ézc/ jj“‘k ~Ex~-§
L and the x-axs, g = ~ (xR+bx+5) = ~(X+8Y x+))

Areq = Swi —(x%+bx+s)dx
~s

[ fs %3 3x3 +6“)<)1:\<:

= (- (“’+3s>> (~CF+F5-05))
= 25’) 3475

28, Find Hhe area of +he g som 5ouno/eo/é oy 4= X% and the x-axss
Y 5 '
> X lJ 3‘){2 Ax .
ff}r‘ea = S [{’D{o &nﬂqm) (boHun 'Q)nc:ﬁan)]o/)(
= (0 Extan) . -
(3 x34x)| 2 =T +9)~(or0)
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3. Ris +he reg jon between 3=X3-3)<“ and g = x4 Sx

= X2 (x-3) g = X (x+57)
bl)hew; do “ng indersecd ? X3 3x*= x*+8$x
- - 4x?-sx=0

X(Xl“/x-s) =6
X (x=s)(x+)) =0
(O/o); (5/ SO)) (*]f L/)‘
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Region has two Ioar’fs
A=A thy = S [l 3 358~ (X252 Jdx +f [(x2rsx) = (x 33D dx

= SB(X?’ A% -5x)dx + SS‘C‘“X?’%‘I&(‘ + §x) dx
tLqK”gx” )ﬂzl +[q)<'1+’%x +""><3
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